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Solve the following problems and write your answers on the answer sheet. Please 
show your work.

1. 26 + 3 = A. 56 
  B. 59 
  C. 29 
  D. 28 
  E. None of the above 
 
 
2.   491 A. 592 
 +101  B. 502 
  C. 529 
  D. 602 
  E. None of the above 
 
 
3. 784 + 63= A. 747 
  B. 837 
  C. 727 
  D. 847 
  E. None of the above 
 
 
4.   623 A. 708 
 +185 B. 808 
  C. 818 
  D.718 
  E. None of the above 
 
 
5.   381 A. 840 
 +469 B. 740 
  C. 841 
  D. 851 
  E. None of the above 
 
 
6.      268 A. 691 
      342 B. 1410 

+ 81    C. 581 
D. 1420 

  E. None of the above 
 
 

7. 94+872+43= A. 1396 
  B. 2242 
  C. 1009 
  D. 1406 
  E. None of the above 
 
 
8. 6+847+58= A. 991 
  B. 910 
  C. 981 
  D. 965 
  E. None of the above 
 
 
9.    88 A. 24 
 − 54 B. 33 
  C. 34 
  D. 23 
  E. None of the above 
 
 
10.    78 A. 15 
 − 62 B. 26 
  C. 25 
  D. 16 
  E. None of the above 
 
 
11.    562 A. 351 
 − 211 B. 341 
  C. 350 
  D. 340 
  E. None of the above 
 
 
12.  85 − 9 = A. 84 
  B. 76 
  C. 75 
  D. 86 
  E. None of the above 
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13.   3295 A. 2511 
 −1784 B. 1511 
  C. 1611 
  D. 1610 
  E. None of the above 
 
 
14.    507 A. 145 
 − 462 B. 165 
  C. 45 
  D. 55 
  E. None of the above 
 
 
15.   7800 A. 7174 
 −  774 B. 7136 
  C. 7034 
  D. 7026 
  E. None of the above 
 
 
16. 8271 − 4195= A. 4176 
  B. 4076 
  C. 4026 
  D. 4124 
  E. None of the above 
 
17. George bought a notebook for $2, a 

pen for  $3 and a box of computer 
diskettes for $12. How much did he 
spend all together? 

 
A.  $15  B. $17 
C.  $14  D. $16 

 
 

18. George gave the clerk $20.  How 
much change did he receive?   

 
A. $5.00 B. $4.00 
C. $3.00 D. $6.00 

 
 
 
 
 

19. Alice works in an office supply store.  
She needs to keep 100 packs of 
pencils in stock.  She has 48 packs 
today. How many packs should she 
order? 

 
A. 62  B. 58 
C. 52  D. 68 

 
 

20. Amy had some clothes cleaned at 
the dry cleaners. They charged her 
$8 for a dress, $5 for a pair of 
slacks, $6 for a sweater and $25 for 
an evening gown. How much change 
did she receive from three $20 bills? 

 
A. $16.00 B. $24.00 
C. $14.00 D. $6.00 
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Answer Key 

1. C 

2. A 

3. D 

4. B 

5. E 

6. A 

7. C 

8. E 

9. C 

10. D 

11. A 

12. B 

13. B 

14. C 

15. D 

16. B 

17. B 

18. C 

19. C 

20. A 
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